|B#-#IBEFTERR  (IBERIR)

[=! * i o {E3 i =

TEE=TH 5 56 & TEE=TH i 2

TERE=TH # 6 5 TERE=TH i 9

TEE=TH 5 1 5 TEE=TH i 10

TERE=TH # 1 5 TERE=TH i 13

TEE=TH 5 1 5 TEE=TH it 6

TERE=TH # 8 5 TERE=TH Eih 18

TENE=TH % 8 & RENE=TH it 2

TERE=TH # 8 5 TERE=TH i 19

TEE=TH # 10 & TEE=TH i 1

TE$E=TH E 10 & TE$E=TH i 3

TEE=TH # 10 & TEE=TH i 1

TE$E=TH #F 11 5 TE$E=TH it 3

TEE=TH # 13 & TEE=TH it 5

TE$E=TH % 14 5 TE$E=TH i 7

TEE=TH # 156 & TEE=TH i 10

TE$E=TH % 15 & TE$E=TH EFih 13

TEE=TH # 16 & TEE=TH Fith 36

TB$RE=TE E 17 5§ AJU-ARX—IL101E8E TBRE=THE Fih 1 AJURX—IL101BE
TEBE=TH E 17 B AV RX—L1028E TBE=TH Eh 1 AYV-RX—IL1028BE
TE$E=TH % 18 & TE$E=TH i 2

TEE=TH E 21 5 YIL—Th—LE TEE=TH Eih 6 YIL—Th—LE
TE$E=TH i 22 § TE$E=TH Eith 8

TEE=TH # 23 & TEE=TH i 10

TE$E=TH EF 25 & TE$E=TH i 12

TEE=TH # M4 5 TEE=TH i 20

TE$E=TH % 36 = TE$E=TH Eith 16

TEE=TH % 371 & TEE=TH it 24

TE$E=TH EF 39 & TE$E=TH Fih 25

TEE=TH F 83 5 TEE=TH Fith 28

TE$E=TH EF 43 5 TE$E=TH i 31

TEE=TH F 45 5 TEE=TH Fith 32

TE$E=TH EF 46 5 TE$E=TH it 34

TENE=TH £ 46 5 RENE=TH &ih 35
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TEE=TH & 41 5 TEE=TH 5 i 1

TE$E=TH i 41 5 TE$E=TH 5 Eith 4

TEE=TH & 41 & TEE=TH 5 it 5

TE$E=TH E 41 5 TE$E=TH 5 it 2

TEE=TH % 52 & TEE=TH 5 it 8

TE$E=TH % 53 & TE$E=TH 5 Eih 15

TEE=TH % 3 & TEE=TH 5 i 9

TE$E=TH % 54 & TE$E=TH 5 i 1

TEE=TH % 56 &= TEE=TH 5 Fith 12

TE$E=TH % 51 & TEgE=THE U it 3

TEBRE=TH & 51 & I)LTqLLAIL2028F |FABE=TE N EFih 2 IITaLHEAL2025E
TE=TH & 57 B ILTaLLAIL2035E |FBE=THE U1 FEi#th 2 I)LT1LHAL203FE
TEE=TH & 51 5§ IITaLLALI03E TEgE=THE N FHh 2 IILT4LLALI03E
TE$E=TH & 51 B IILTaLHAL2018E |FBEA=TE 11 Fih 2 ILTaLHEABIL2015E
TEBRE=TH & 51 B I)LTqLLALI1028E |FABE=THE N EFih 2 IILTaLHEALI1025E
TE$E=TH % 59 & TEgE=THE U it 4

TEE=TH F NN 5 THH=THE 10 it 4

TE$E=TH #FE N 5 TEgE=THE U i 1

TEE=TH & 72 & TEE=TH 9 it 6

TE$E=TH 5 138 & TE$E=TH 9 i 7

TENE=TH & 18 & TEIE=TEH 9 it 5

TE$E=TH 5 19 5 TE$E=TH 8 i 7

TEE=TH # 19 & TEE=TH 8 it 4

TE$E=TH % 81 & TE$E=TH 8 i 1

TEE=TH % 82 & TEE=TH 8 it 4

TE$E=TH % 83 & TE$E=TH 1 Eith 5

TEE=TH % 83 & THHM=TH 1 it 8

TE$E=TH E 86 = TE$E=TH 1 i 10

TEE=TH % 3 & TEH=TH 18 i 7

TE$E=TH H 6 & TEgE=TH 17 Fiw 3

TEE=TH 5 1 5 TEH=TH 17 i 1

TE$E=TH 5 1 & TE$E=THE 14 Fih 3

TEE=TH 5 1 5 THH=THE 14 i 1
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TEE=TH EF 14 5 TEH=TH 13 Fun 1
TE$E=TH % 16 & TEgE=TH 13 Hiw 4
TEE=TH & 17 & TEH=TH 13 F 5
TE$E=TH % 18 & TEgE=TH 13 Fiw 7
TEE=TH # 20 & TEH=TH 13 Fn 8
TE$E=TH 5 21 & TE$E=TH 12 Fih 3
TEE=TH # 256 & TEH=TH 12 Fn 6
TE$E=TH i 29 & TEgE=TH 15 Fiw 3
TEE=TH 29 & T#H=TH 15 F 7
TE$E=TH i 29 & TEgE=TH 15 Fin 1
TEE=TH 29 & TEH=TH 15 i 1
TE$E=TH % 31 & TE$E=THE 14 Hih 6
TEE=TH F 31 5 THH=THE 14 Fith 12
TE$E=TH % 31 & TE$E=THE 14 Fiun 10
TEE=TH & 31 5 THH=THE 14 F 7
TE$E=TH % 32 & TEgE=TH 15 Fh 5
TEE=TH % 3% 5 TEH=TH 17 Fn 3
TE$E=TH % 36 = TE$E=THE 20 Fiw 2
TEE=TH % 36 = THM=THE 21 Fin 4
TE$E=TH % 36 = TE$E=THE 21 Fw 5
TEE=TH % 36 = TEH=TH 19 Fn 3
FEE=TE & 2 B FEEA=TE 22 & 3
TEE=TH 5 2 5 TEE=TH 22 i 1
FEE=TE B 2 B Hh—¥Iz)—FI1018F |FEE=TE 22 FHH 2 H—HYIIY—FI1018E
TERE=TH E 2 B h—YIrY—Fr1028E |(FHE=TE 22 HH 2 H—YIr)—Fz10285=E
FEE=TE B 2 B Hh—¥I1)—FI2018F |FEE=TE 22 HH 2 H—HYIIY—FI2018F
TEE=TH % 3 & THE=TH 24 i 9
FEE=TE & 3 B FEBE=TE 24 it 10
TEE=TH E 4 5 THE=TH 24 i 10
FEE=TE & 5 B FEBEA=TE 24 i 10
TEE=TH % 6 & TEHE=TH 24 Fih 13
FEE=TE & 9 B FEEA=TE 24 & 16
TEE=TH EF 14 5 THE=TH 24 Fin 4
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TBE=TH & 171 5 TBE=TE 24 & 9
TE=TH & 17 5 THE=THE 24 & 6
TBE=TH E 11 5§ JL—Th—LER TBE=TH 22 &Eih 4 TL—THR—LiEAL
TE=TH % 18 5 TE=TH 23 Hi 17
TBE=TH & 18 5 TBE=TH 23 & 16
TE=TH # 19 5 TBE=TH 23 Hih 2
TBE=TH & 22 5 TBE=TH 23 & 6
TE=TH # 30 5 TBE=TH 23 i 10
TBE=TH & 31 5 TBE=TH 23 & 11
TE=TH # 1 5 TEE=TH 25 Hi 1
TBE=TH & 5 = TBE=TH 29 & 5
TE=TH # 6 S TBE=TH 29 i 13
TBE=TH # 6 = TBE=TH 29 & 12
TE=TH # 10 5 TBE=TH 29 Hih 2
TBE=TH & 10 5 TBE=TH 29 & 3
TE=TH # 183 5 TBE=TEH 29 Hi 5
TBE=TH & 16 5§ TBE=TH 29 & 6
TE=TH E 16 5 TBE=TH 29 Hih 6
TBE=TH & 16 5 TBE=TH 29 & 10
TE=TH E 16 5 TBE=TH 29 Hi 7
TBE=TH & 171 5 TBE=TH 29 & 8
TE=TH # 19 5 TE=TH 28 H 5
TBE=TH & 19 5 TBE=TH 29 &9
TE=TH & 21 5 TE=TH 28 i 10
TBE=TH fF 29 5 TBE=TH 28 & 6
TE=TH % 31 5 TEE=TH 28 Hi 7
TBE=TH & 31 5 TBE=TH 28 & 8
TE=TH % 32 5 TBE=TH 27 Hih 2
TBE=TH & 32 5 TBE=TH 27 &1
TE=TH % 35 = TBE=TH 27 Hih 3
TBE=TH & 43 5 TBE=TH 27 & 12
TE=TH f 43 5 TBE=TH 27 Hih 8
TBE=TH & 43 5 TBE=TH 27 & 7
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TEE=TH F 45 5 TEE=TH 27 Fith 15
TE$E=TH E 50 & TE$E=TH 26 Eith 5
TEE=TH % 54 & TEE=TH 26 i 1
TE$E=TH % 51 & TE$E=TH 25 i 7
TEE=TH % 60 & TEE=TH 25 i 2
TE$E=TH # 3 & TE$E=THE 34 it 1
TEE=TH 5 56 & THE=TH 34 i 2
TE$E=TH # b & TE$E=THE 34 it 1
TEE=TH E 6 & TEHE=TH 34 i 3
TE$E=TH 5 1 & TE$E=THE 34 Hih 4
TEE=TH % 8 & THE=TH 34 it 5
TE$E=TH 5 9 5 TE$E=THE 34 Hih 6
TEE=TH # 10 & TEHE=TH 34 it 8
TE$E=TH % 14 5 TE$E=THE 34 i 9
TEE=TH # 16 & TEHE=TH 34 i 10
TE$E=TH 5 11 & TE$E=THE 34 i 1
TEE=TH % 18 & TEHE=TH 34 i 1
TE$E=TH E 19 & TE$E=THE 34 i 12
TEE=TH & 24 5 TEE=TH 33 i 7
TE$E=TH E 25 & TEgE=TH 33 i 7
TEE=TH E 26 & TEE=TH 33 i 9
TE$E=TH E 26 5 TEgE=TH 33 i 7
TEE=TH % 21 & THM=TH 31 it 4
TE$E=TH &5 21 & TE$E=TH 31 i 3
TEE=TH # 28 & TH=TH 31 it 4
TE$E=TH % 32 & TEgE=TH 31 Eith 6
TEE=TH # 33 & TH=TH 31 i 9
TE$E=TH EF 39 & TEgE=TH 30 Eith 6
TEBE=TH EF 39 HF TILT4LEEI202 TEFE=THE 30 Hh 5 IIT(LEEI202
TBHRE=TE % 39 5 ILTqLEEIT02 TEHE=TE 30 HH 5 ITILTsLEREI102
TEBE=TH % 39 B ILTALEEI201 TEFE=THE 30 Hh 5 IILT,LEEI201
TE$RE=TE % 39 5 ILTALEEI208 TEHE=TE 30 HH 5 ITILTsLEREI203
TEE=TH & 40 5 TEE=TH 30 i 7




|B#-#IBEFTERER  (IBERIR)

[=! * i # = i =
TEE=TH i 40 5 TEE=TH 30 it 8
TBHRE=TE E 41 § RIANA(YB—101 TEE=TE 30 H# 4 FRIIN(YB-101
TBE=TH & 41 5 RIAN(YB—102 TEE=TH 30 HH 4 RIS\ (YB—102
TE$E=TH EF 45 5 TEgE=THE 30 it 2
TEE=TH % 50 & TEE=TH 30 i 3
TE$E=TH % 53 & TE$E=TH 32 i 1
TEE=TH E 56 & TEE=TH 32 i 1
TE$E=TH % 51 & TE$E=TH 32 i 1
TEE=TH % 58 & TEE=TH 32 i 1
TE$E=TH E 59 & TE$E=TH 32 i 1
TEE=TH % 60 & TEE=TH 32 i 1
TE$E=TH % 61 5 TE$E=TH 32 it 3
TEE=TH % 62 & TEE=TH 32 it 5
TE$E=TH % 62 & TE$E=TH 33 i 10
TEE=TH E 66 = TEE=TH 33 i 3
TE$E=TH #E 1 5 TEgE=TH 35 it 1
TEE=TH 5 4 5 TEE=TH 36 i 9
TE$E=TH E 6 & TE$E=TH 36 Hih 6
TEE=TH % 8 & TEE=TH 36 it 5
TE$E=TH #F 11 5 TE$E=TH 36 i 7
TEE=TH 12 & TEE=TH 36 it 8
TE$E=TH % 13 & TEgE=TH 35 i 10
TEE=TH # 14 5 TEE=TH 35 i 17
TE$E=TH % 14 5 TE$E=TH 35 Eih 15
TEE=TH # 14 5 THH=THE 4 it 6
TE$E=TH % 14 5 TE$E=THE 4 it 3
TEE=TH # 14 5 TEE=TH 35 it 14
TE$E=TH E 16 & TEgE=TH 35 Eith 4
TEE=TH # 19 & THHM=THE 41 i 9
TE$E=TH EF 20 & TE$E=TH 42 it 2
TEE=TH 5 20 & TEHE=TH 42 i 1
TE$E=TH E 20 & TE$E=TH 42 it 3
TEE=TH F 21 5 TEHE=TH 42 it 4
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FHE=TH £ 23 S FHEM=TH 42 & 4
FHE=TH £ 21 = FHE=TH 42 &b 5
FHE=TH £ 28 S FHE=TH 42 &t 1
FHE=TH £ 20 = FHE=TE 42 &b 1
FHE=TH £ 30 S FHEM=TH 40 & 4
FHE=TH £ 31 2 FHE=TH 40 &b 5
FHE=TH £ 32 S FHEM=TH 40 &t 5
FHE=TH £ 35 = FHE=TH 40 &b 7
FHE=TH £ 35 S FHE=TH 40 & 10
FHE=TH £ 35 = FHE=TH 40 &b 13
FHE=TH £ 35 S FHEM=TH 39 &t 5
FHE=TH £ 35 = FHE=TH 40 &b 9
FHE=TH £ 36 S FHEM=TH 39 &t 5
FHE=TH £ 37 = FHE=TH 39 &b 5
FHE=TH £ 38 S FHEM=TH 39 &t 9
FHE=TH £ 38 = FHE=TE 39 &b 7
FHE=TH £ 38 S FHE=TH 39 &t 1
FHE=TH £ 38 = FHE=TE 39 &b 11
FHE=TH & 4 S FHEM=TH 39 &t 3
FHE=TH £ 44 = FHE=TE 39 &b 4
FHE=TH E 4 S FHEM=TH 39 &t 5
FHE=TH £ 45 = FHE=TE 37 &t 14
FHE=TH £ 45 S FHEM=TH 37 &t 15
FHE=TH £ 471 = FHE=TE 37 &b 1
FHE=TH £ 50 S FHEM=TH 37 &t 3
FHE=TH £ 51 2 FHE=TE 37 & 4
FHE=TH & 52 S FHEM=TH 37 & 5
FHE=TH £ 53 = FHE=TH 37 &b 8
FHE=TH & 54 S FHE=TH 37 & 10
FHE=TH £ 57 = FHE=TE 40 &b 1
FHE=TH & 57 S FHEM=TH 35 & 22
FHE=TH £ 57 = FHE=TH 35 &b 25
FHE=TH E 4 = FHE=TH 44 & 4
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TBE=TH & 5 5 TEE=TH 44 & 4
TE=TH & 71 5 TEHE=THE 44 &M 6
TBE=TH & 8 = TBE=TE 44 & 8
TE=TH # 10 5 THE=THE 44 &M 9
TBE=TH & 12 5 TBE=TH 44 & U
TE=TH # 15 5 THE=TH 43 & 4
TBE=TH & 16 5 TBE=THE 43 & 5
TE=TH # 283 © THE=TH 43 &M 7
TBE=TH # 26 5 TBE=TH 44 & 12
TE=TH # 30 5 THE=THE 44 HEH 12
TBE=TH # 38 5 TBE=TH 44 & 16
TE=TH # 6 S THE=TH 456 &M 2
TBE=TH & 8 = TE=TH 46 &t 8
TE=TH 9 5 TYE=TH 46 & 1
TBE=TH & 12 5 TBE=THE 46 & 3
TE=TH # 183 5 THE=TH 46 & 4
TBE=TH #F 20 5 TEE=TH 46 & 4
TE=TH # 20 5 THE=TH 46 &M 5
TBE=TH #F 20 5 TE=TH 46 & 7
TE=TH 21 5 TEHE=THE 47 & 5
TBE=TH & 22 5 TBE=TE 47 & 5
TE=TH # 283 5 TEHE=THE 47 & 5
TBE=TH & 24 5 TBE=TE 47 & 5
TE=TH E 26 5 TEHE=THE 47 & 5
TBE=TH & 32 5 TBE=TE 47 & 1
TE=TH E 34 5 THE=TH 48 & 7
TBE=TH # 3 5 TBE=TH 48 & 8
TE=TH # 37 5 TYE=TH 48 & 11
TBE=TH # 39 5 TBE=TH 48 & 12
TE=TH E 40 = THE=TH 48 & 1
TBE=TH O TBE=TH 48 &HH# 3
TE=TH g 41 5 THE=TH 48 & 6
TBE=TH O TEE=TH 46 & 6
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THE=THE 8 &#F 41 & TEE=TH 48 i 1
TE$E=THE 8 &F 41 % TE$E=TH 48 Eith 5
THE=THE 8 & 4 5 TEE=TH 45 i 1
TE$E=THE 9 &F# 6 % TE$E=TH 50 i 1
TgE=THE 9 &#F 7 & TEE=TH 50 i 3
TgE=TE 9 &F 71 % TE$E=TH 50 it 4
TEE=TH 9 & 8 = TEE=TH 50 i 9
TE$E=THE 9 &®# 8 % TE$E=TH 50 i 7
THE=THE 9 & 24 & TEE=TH 50 Fith 18
TE$E=THE 9 & 25 % TE$E=TH 50 i 19
TEgE=THE 9 & 271 & TEE=TH 50 i 20
TEgE=THE 9 &F 33 % TE$E=TH 49 i 7
THE=THE 9 & 34 5 TEE=TH 49 it 8
TEgE=THE 9 &F 37 & TE$E=TH 49 i 10
TEgE=THE 9 # 38 & TEE=TH 49 i 1
TE$E=THE 9 &F 39 % TE$E=TH 49 it 3
TH=TE 10 & 7 & TH=TH 51 i 2 REZEXE
TBE=THE 10 F 11 & RJ—/LR102% TBE=TE 51 i 4 R)Y—/LR1025 REZERE 5
TEHE=TH 10 &F 11 & XJ)—-/\LR1015 TBE=TH 51 & 4 RY—-/LR1015 REZER S
TEE=TEH 10 & 13 & TBE=TH 51 i 5 REZBR
TH=THE 10 &F 15 & THM=TH 51 it 6 REEEXE
TEE=TE 10 & 17 & TBE=TH 51 i 8 REZBR




